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Rubric

a. 1 point

b. 1 point

c. 1 point for answer; 1 point for
explanation

.a 13h+1b
4 2

2 1
b 2peilp
37713
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Peter did add enough flour to his
cookies, but he did not add enough
sugar. He added 2b cups of sugar, but

he needed Zgh cups

simplify 2(3 + 3x).
(Bx=12y)+y +2(3+3x)
=(Bx—12y)+y+2-3+2+(3x)
Bx—12y)+y+6+(2+3)x
Bx—12y)+y+6+6x

Use the associative property of addition
to move the parentheses to the right.
Combine like terms inside the
parentheses.

(8x—12y)+y+6+6x

=8x+(-12y +y)+6+6x
=8x—11y+6+6x

Use the commutative property of addition
to move 8x to the right of 6.

8X— 11y +6+6x=—11y+6 +8x+6x
Finally, combine like terms

11y +6+8x+Bx=—11y+ 6+ 14x
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So, the expression

(8x—12y) +y+2(3 +3x)

is equivalent to the expression:
1y +6+14x.

Rubric

1 point for answer; 3 points for using
properties of operations correctly

a2n+N)+n+3+nel+n+l+n+2n

b.2n+1)+n+3+n+1+n+1+n+2n
=20+2+n+34n+1+n+1+n+2n
=2n+n+n+nen+2n+2+3+1+1
=8n+7

c. No, Nick's expression is not correct
His expression simplifies to 81 + 6,
and8n+6=8n+7.
2n+1+2n+4n+5
=2n+2n+4n+1+5
=8n+6

Rubric

a. 1 point

b. 1 point for simplification; 2 points for
reasonable work

c. 1 point for answer; 2 points for

reasonable work
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Name Date Class.
6.EE.4

SELECTED RESPONSE 3. Which pair of expressions are
Select the correct answer. equivalent?

1. Which expression is NOT equivalent to
the expression 11 (3x +2)?

@ 11-3x-2
®9-3x

© 11-3x+2
@ 11+ (-3x-2)

2. Which expression s equivalent to
12x-3(x+2)?

@ 4x-2+5xand 7x

® (11+30-xand 11+2x
© 12(x-2)and 12x-2
(@ 9x(4) and 13x

Select all correct answers.

4. Which expressions are equivalent to the
expression 2x — (=3x + 8y) + 82
@ 20+ (3x+8y) + 8

® 12046 B 2x+(3x-8y) + 8
® 120-6 © (2x+3x)-8y+8
@ x+6 ® =8
©9x-6 (® 5x-8y+8
Match each expression with an equivalent expression.
5 3x-2+8x A a2
6 ax-(x+1) B 2-1
T N-1)+2 c
8 43y D 1ix-9
9. -13x+5x E 1ix-2
Fo2xst
G 8¢

CONSTRUCTED RESPONSE
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10. Blaine and Tanya are selling pumpkins and tomatoes at a farm stand. Blaine sells
p pumpkins and t tomatoes on the first day. The second day he sells double what he sells
the first day. Over both days, Tanya sells triple what Blaine sells on the first day.
. Write an expression for the total number of pumpkins and tomatoes Blaine sold
both days.

b. Write an expression for the total number of pumpkins and tomatoes Tanya sold
both days.

c. Did Blaine and Tanya sell the same amount? Explain.
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1. Peter is making cookies. He needs to add

atotalof 21 cups of four ana 22 cups
of sugar per batch. At the beginning of
the recipe, he only adds 1% cups of flour

and % cup of sugar per batch. He adds

% cup of flour and 1% cups of sugar per
batch later in the recipe.
a. Write an expression for the number
of cups of flour Peter added to make
b batches of cookies.

b. Write an expression for the number
of cups of sugar Peter added to
make b batches of cookies.

c. Simplify the expressions from parts
aand b. Did Peter add enough flour
and sugar to his cookies?

13. Nick is finding the perimeter of a garden.

The measurements of the garden are
given below. Nick's expression for the.
perimeter is 2n +1+2n+4n +5.

ned

net

2n+1)

n

a. Wite an expression for the perimeter
of the garden.

b. Simplify the expression from part a to
two terms. Show your work.

c. I Nick's expression for the perimeter
correct? Show your work.
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12. Show that the expression
(8x~12y) +y+2(3 + 3x) is equivalent to
the expression ~11y + 6 + 14x
Use the properties of operations to
justify your steps.
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prt+2(p+t)
3p+t)

Yes, Blaine and Tanya sold the same
amount. They both sold 3p + 3t
pumpkins and tomatoes.

Blaine: P+t+2(p+t)=p+t+2p+2t

Tanya: 3(p + ) = 3p + 3t

3,.1,.7,.2

1gbegb=gbe b
9
b
1
=21y
1

2, 1, 2 4

Sh+1gb=3b+3b
6
=2»
3
2b

Rubric

a. 1 point

b. 1 point

c. 0.5 point for each simplification;
0.5 point for each answer

12. Possible solution:

First, use the distributive property and the
associative property of multiplication to




